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‘de’ should be ‘do’
‘A >0’ should be ‘A <0’
‘@’ should be ‘Cﬁ’
‘“TB’ should be ‘QB’
‘properies’ should be ‘properties’
‘and v and w’ should be ‘and u and w’
‘between 1 and —1’ should be ‘between |v||w| and —|v||w]|’
‘v-w >0 should be ‘0 < v-w < |v||w|’
‘v.-w < 0’ should be ‘ —|v||lw| < v-w < 0’
‘“T'wo lines are called skew if they are not parallel and do not intersect.’
delete ‘and do not intersect’
‘point’ should be ‘points’
*—37 should be ‘3’
‘Section 8.5 should be ‘Section 7.5’
‘Ry 4+ 3R;’ should be ‘ Rs + 3R;’
“R/3,7 should be ‘ Ry /3’
“a"tab = a=tab’ should be ‘atab = atac’
‘v, should be ‘ \;v;’
‘Exercise 5.5’ should be ‘Exercise 7.5’
‘0= (M — XI)0’ should be ‘0= (M — XI)~'0’
‘eigenvalue 7’ should be ‘eigenvalue —4°’
‘x = ax + by’ should be ‘2’ = ax + by’
‘000’ should be ‘00 1°

‘This not a coincidence’ should be ‘This is not a coincidence’



